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—5 [Q] f=50Hz
BRI (A) 12, 3 (5-8) 2 b, e
_V_100_
1—7— 5 =20 (A)

R O TERE Ve (V)id, & (G-1) 55,
Ve=RI=3%20=60 (V)

L oyt EE Vi (V]ig, RG-2) 25,
=X, I=4x20=80 (V)

fitE# 013, K (5-6) b,
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%72, cos 0, sin 0%,
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cosﬁ—Z~5—0.B sin 0= 2—5—0.8

M2 #AE)VT775>2 Xc(Q)13,
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L72di->T, B I(A)IE, & (5-10) 25, [A]
R=50Q C=600uF
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/Rz 10) ~/50°+5.3 %VRch
V |
=1.99 (A) (V=100V)
S 6 13, R (5-12) 25 f=50Hz
®E 2

1
—an-1 @C o 15.3
f=tan R tan 50

=tan™'0.106=6.7°=6°43’

IAlp_120Q =33 C=4uF

B3 mEBEN)T78>2 X, Xc(QF, —
Xo=27fL=27%50x3=942 (Q) FI}R il
XC:A——l — 1 I 7
wC 27ch (V=100V>
1 f=50Hz
=796 (Q) 3

T2rX50X4X10"
L7zd-T, Xi>Xc &% b0TC, RKIFEMETH S,

B I(A)1z, R(G-14) 25

|4 100 100
= ===0.529 (A
VR*+(X.—Xc)?  /120°+(942—796)> 189 (A)

Az 6 12, & (5-16) 2 &
o Xi— Xc

I=

146 -11.217=50.58°=50°35"

f=tan™' —=5——=tan 120

B4 7ML, BR4DEHICK D,
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Ve i
I}L + f/c
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6=50"32  053A
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5-2 wAW3IOIEE

Bl EBiFE L L(A)IZ, RG17)~(6-18) 55

~120

_V_
L=p=22—4 (a)
__V _120 _
L=-=" =3 (A)

L72dt-> C, &8l I (A) 1%, X (5-19) » 5

[=\/ IR2+IL = 42+32:5 [A]

Are—=5>r2ZQlz, R (5-20)5»5,

- V_120
Z=—F="5=u(q]

B2 EW I, Ic(A)lE, R (5-22)~(5-23)
»b,

_V_120_
L=—p="3-=40 (A]

V 100

X g 30 (Al
L72ht- T, &&RI(A)IE, R (5-24)

b,

Ic_

I=YI*+12=/40°+30* =50 (A)
frE—7r 2 Z QI & (52525

—V_120
Z=—p=75;=2.4 (Q]

B3 W Ie, L, Ic(A)lE, X (5-27) 25

L7ehs->T, &8I I(A)IZ, R (5-28) 25
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Bl I3 FHENETH D),
I=VI2+ (I, — 1) =/8+(10—4)* =10 [A)
Arbe—%r 2 ZQl3, X (5-29) 55,

_V_200_
Z=—=,=0 Q)

5-3 XHDEN
M1 Ji%cos 6(%)ix, RG-3)»b,

3
cos 0=%x100= 110%>><<1200 x100=80 (%)
b=
A&
EXHBE
1. @ fHofrvr—rr2Z(Q)iE,
141
_V_J2 _
Z=T=75.g %0 (Q]
/2
ok %[rad] FAEPSEN B 0T, ARIIHERTH 2,
@ EHR(Q)IT,
R=7 cos F=50xY3 —95/3—43 3 Q)

6 2
2. a4 A= 2 Z(Q)I,
Z=JR*+Q2afL?=v2*+2x x50 x 20X 10 %) = /43.5=6.6 (Q)

L72h> T, &\ifi [(A)Iz,
_V_100_
I= 77 6.6 15.2 (A)
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_ [ p2 1 t\/z ( 1 )2_ 7 7
Z‘\/R +<2zrfc> =y 8+ Grxsox1zx107) ~V8 265" =265 (]
L7hisC, Eikl(A) 1,

= V_100_
[=—=56==0.311 (A)

4. NEnA>v—> 2 Z(Q)i3,

y_ 10
I 100%10°°

Riz, BEED» L,

_ Ve _ 10 _
Xe=—T=Tgpx 10+ 100 (@]

$72, LXCOBKNT 75> 2 X(Q)I3,

Z*=R*+X* .. X=JZ*-R*=/100*—60>=80 (Q)
L7zhi-T, LOFE)T 75> 2 X, (Q) 13,

X=X+ Xc=80+100=180 (Q)
Wziz, KHpEENA > 7752 LH)IZ,

- ZXH} = 2”130103 =28.6x107°(H)=28.6 (mH)

5. 24 LO#EH R (Q) I3,

_Ve_ 50 _
R=7 =1,5-4 (0
Kiz, aAnn4>e—r 2 Z(Q)Ii3,

_V_100_
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Tharhr b, aAND)T 752 X (Q)I3,
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6. [ DEMEI(A) I3,

zZ= =100 (Q)

L

IO S 1
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L72di->T, BN P(W)IE,
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—7, ZORBNERS > E—F > 2 Z(Q)13,
Z=VR+X*
Thbdhb, MEHIKFLWEBNT,
0=V/R*+X> .. X=/20—122=16 (Q)
8. M NEAHES Ps (V-A), J1& cos 0, HEHNEI] Py (var) i3,
Ps=VI=200%0.35=170 [V-A]
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€08 0= =360%0.35
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-1 _ 1 I(A) _ -
Xe= 5 e = 27X 60X 100 X 10°° LY R=1150 L—O.lH_C| 100 uF
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V=X, I=37.70%5.35=201.7 (V)
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Vi +ve |V (100V)

Vi

1(535A)

Ve (141.9V)
#2129

_48_
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wC

72, MKLER (A)IZ,
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J15 cos 6 13,
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w P(W]id,
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a2 EPHIc B L 22 & 2o RIBEER (A3,
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=R 780
—7, EELY,
807=120 .- 1=—18%0:1.5 (A)
ZhE ERICAATILL,
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1.5=4rs rR=210—80—60 (0)

KIZ, almFaEFE) T 77> 2McHERL 72 L 2 ORBER I (A) I,

—210 210 _ 210
~Z  Jevrts 100 21 (A)

L72A55 T, T ab BIOERE Vi (V) 13,
Vao=XI'=80%x2.1=168 (V)
EIRDOEME 1 (A) 13,
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I /7 /7 10x107° (A) (1)

I
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~wC  2zfC

#1552, 2z ERATIUL,
p.— (10x107%)?
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7. 240D H cos 0 13,
_R_20_
cos §="7="-=0.444 (44.4%)
— . 7P 2000 __
8. Ps=VI s I= V=100 20 (A)
3
P=rP . R=h=18510_4(q)
_ P _1600_
cos = . T2000 0.8
sin §=+v1—cos? =y1—0.82=0.6
_sinf _0.6__
tan 6_cos 0= .8_0'75

L7557, tan 0=% Th Db,

X=Rtan §=4X0.75=3 (Q)
9. EHIEIKNA > ©—F > 2=AFH b,

_R
cos 9= 7

__ R _ 16 _
z= cos 0.8 =20 (0]

F72, EfNAL> = 2 Z(Q)13,
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P,=yP?—P*=/1*—0.8°=/0.36=0.6 (kvar)

F72, HEcos 013, X (5-41) » 5,
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1. mEHEHN P(W) i,
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ITcos@ 10X0.8
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O oo a5
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S
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" v
_22_ Y
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KA > ve—> 2 Z(Q) 13,
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z="}==13 (Q) ¢ 1'/‘ i
R
Kuf > e—F> 20 E RQ), VT 7% 826 13

2% X [(Q) r¥g,

R=Z cos ¢'=13><1—%=5 @), X=/Z2—-R’=/13—5=12 (Q)
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27rfeoc
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A1) +R@2) &,
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cos 0= =500x10 -6
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